After the hwk quiz do the following:

Expand each.

1. (11x+%)(4X—%) 2. (Le-nGe-3)

2. (%c —7(5¢ - %)

Sec 9-4: Expanding Special Cases
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Expand each. Notice what happens. The difference of perfect squares

1. (d+7)d-7) 2. (W-5)(w+5) (@+b)a-b) =a?-p2
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<>< % Expand each.
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These are opposites so
they cancel.



Expand each.

1. (e +21)(e - 21) 2. (19K - 31)(19k + 31)
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Expand each.
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What do you notice?
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Expand.

O —%) (g ++)
. (3g* - 5h?)(3g* + 5h?)
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These are a same so

the final result is two
times one of them



What is the shortcut for expanding (R - 10)?
Only works if the coefficient of the variable is 1 (a +b)2 - a2 + 2a b + b2

R2- 2(10) + (10)2

R=20R. +lo0

Expand each. Expand.
(3n + 8)?
1. (G +5)? 2. (A-8)
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"f - (-5) 2(3ne8)

oA, A=l
| I | Vot

¥ G



(a+b)? = a* + 2ab + b?

(3n + 8)2

B+ 2606 + (BF

Expand.
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Expand.

1. (5e - 6)?
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2. (2B +9P = (o) (a9
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